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ZIgtZeoer | AT | AEFuniy L ASHEIY | JEguniy | e eo
RESA Rl () =83 (5) =EESnE LR S
(5.6.16) - HOjim| 74 S REPEA | FHo|EE= [=2(16) (1.5.6.10.16.18)
cEHOHAZ (1.25.6.9.10.13.1(5.6.13) (5.6) CEER/EY | YRS
(5.6.13) 6) SEHHAS | 24 EZ [(5.6.13) (2.5.6.12.13.15.1
<O EZLE[0fF |- AO|ZMBE |5S £38(5.6.13.18) | - B|YETtA/7| 16.18)
=7t IES (15.6.12.15.16) |(25.6.12.13.15.1 | - {242 AM |2(15.6.1012) |- a=/A%
st -ZAl ojorar (125.6.10.13.15.| - 7+ &Y% (6.18) 2|/ - HIZ2ZRI(9)  [(1.2.5.6.10.12.15.
16) 2(5.6.13.18) CYER2EN |(25.6.10.12.16) | HO|ZLZHD |16)
- 2ZZ((9) S ZEET((9) A} CHIRZIZ|(9)  [0](1.2.5.6.14) < B ZZZ((9)
LR LR/ | RBUEIAIL [(1.25.6.10.12.15| « 2IAHA/RLQ CAl2E/ e
£(25.6) AH|2H1.25.6) [.16.18) (2.5.6) (2.5.6)
- HIZZZ|(9)
HOFA Eé& ﬁ%'— 4%‘_& [e-Rel =03 [e-Kel =03 O OF2F o o o o
o o+ HEJ-Q—%’: /\J_%_'%F /\J_%_'%F O OO O OO O oo Cgot%h Cgot%h %Ot%h %:'O':Eg
o4 %|(kcal) | 730.47 | 730.47 | 16.1 799.1 972.9 7441 857.9 864.7 841.4
Et435H2(9) 47.0 98.6 103.7 97.1 98.6 93.7 1174
T (g) 19.32 | 19.32 14.6 27.9 32.0 38.9 32.6 21.6 415
Z|%H(g) 38.4 31.8 46.2 20.7 36.5 433 21.6
H|E}O|
'EFE;EA)(”Q 151.94 | 219.61 | 191.9 289.3 1035 1733 337.7 55.9 7742
E{OF2I(mg) 0.31 0.37 0.7 0.8 0.5 0.6 0.9 0.6 2.1
2|2 Zatdi(mg)| 0.34 0.41 1.0 2.0 0.7 0.7 1.0 04 1.2
HIEFIC(mg) | 26.70 | 33.40 36.9 60.8 21.8 11.0 84.7 6.0 61.9
Z+t&(ma) 234.00 | 267.00 | 208.5 258.9 139.3 196.8 354.7 93.0 219.4
2 (mag) 3.70 4.70 35 5.0 3.9 2.8 2.5 3.1 5.8

* OHR| = HHYHTY £10%, /g8l = T43HE(55-65%) : T (7~20%) : 2| (15~30%)
* 199 Ol A|(kcal)= &8tz 4, B 4, 2 FkcalZ 24t
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* AP 27| HE
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3) WER7GRERYR], 220, YR, W2 2|7tSF S0l A8sts LE7MR

4) /B7EE FEF SHA, 3500 A8ste /37EE
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5.16.18) (5.6.16.18) 3.15.16.18) (5) (1.13.16) CHj 22
CEREAAE | HARART] | fREYS -kl CSAEE U2 H5e
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- Sat CERESY/MA | 2B/ | B2 2E | #MUZ|(9)
(1.5.6.10.12.13.1 |(1.5.6.10) ol/AI AH[O|F/AA |+ £H0| 2ELE
8) ZE71(9) (1.25.6.10.12.16|(1.2.5.6.10.11.12.| E(1.2.5.6)
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m
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BRT | HHT | UHY
o4 Z|(kcal) | 730.47 | 730.47 15.6 849.6 854.0 918.7 794.2 805.1 652.4
ea3t2(g) 53.3 127.4 934 111.1 113.7 112.8 115.5
T2 (g) 19.32 19.32 18.5 28.4 44.8 42.3 35.9 429 31.6
A|¥(g) 28.1 26.6 32.9 32.9 20.0 18.6 6.0
H|E}O|
'EFE;EA)(”Q 151.94 | 219.61 | 170.1 130.7 172.8 2235 1415 181.9 123.7
EJotZl(mg) 0.31 0.37 0.8 0.6 1.0 0.8 0.4 1.2 0.4
2|2 Z2tdl(mg)| 0.34 0.41 0.6 0.7 0.8 0.6 0.5 0.6 04
HIEtZIC(mg) 26.70 33.40 46.1 87.0 6.6 99.9 14.6 223 19.9
Zt&(mg) 234.00 | 267.00 | 1925 238.4 175.9 230.1 129.4 188.9 66.7
HE(mg) 3.70 470 5.9 12.1 5.2 5.2 2.8 4.1 2.1

*OH 2= HYHHATY £10%, LdH|= H4aH=(55~65%) : T (7~20%) - AL (15~30%)
* 193 o4 X|(kcal)= E3tE 4, TR 4, 2| 9kcal 2 EHif
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17,164 17, 17.210'01, 1827 B(Z, e, 88 28, 1
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- 0| (1256.10.16) |- 2%o{Eo{3t | FH|Lo|HT} | . O S
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gl
aus | ot | BB aom | ogew | wwm | www | eww | www | wuw
LRY | 4HET | uHY
oAz (keal) | 730.47 | 73047 | 3.6 981.9 726.9 661.0 737.7 674.8
3t2(9) 49.0 92.3 78.3 89.3 995 98.0
s | 1932 | 1932 | 208 66.2 337 42.8 30.8 205
2|%(q) 30.3 34.8 315 137 243 214
H|EfDI
'Eé;;“‘g 151.94 | 219.61 | 106.7 215.7 448 983 319 1430
Ejofgi(mg) | 031 | 037 | 14 0.6 0.6 4.1 0.7 1.1
2= semi(mg)| 034 [ 041 05 0.8 0.4 0.7 0.4 0.4
HIEFRIC(mg) | 26.70 | 33.40 | 180 234 305 10.1 7.3 18.6
Za(mg) | 23400 | 267.00 | 164.4 189.7 66.8 115 333.6 120.4
H2mg) | 370 | 470 | 41 6.2 2.6 5.5 2.1 3.8
* OHR| = HHYHTY £10%, /g8l = T43HE(55-65%) : T (7~20%) : 2| (15~30%)

* 19 |4 X|(kcal)= St 4, TR 4, 2|8 kcal = B4t
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